TBREMADRAAR SMEIBREBE
TR £ =i 2 ES 3 1TIRE £ =] E:] S =
FEAHT 1,500 743 757 626 SBFFTEHET 566 289 277 304
JUHT 2,407 | 1,180 | 1,227 | 1,042 BT 262 125 137 102
FUZERT 631 276 355 307 = AR I ET 2373 | 1,159 | 1214 966
BRAHET 1,827 898 929 875 & |/KEHET 172 84 88 67
DIFT B 394 188 206 198 B |SREET 314 138 176 131
B |5 RET 1,797 939 858 844 i |RET 1,447 726 721 623
#H | EARET 1,103 560 543 490 B g5 726 359 367 335
# (= mEr 258 132 126 129 S s BT 287 133 154 115
B (m=mr 809 396 413 380 FeHET 814 369 445 400
A EHET 307 128 179 142 NG 495 238 257 241
REEE 154 76 78 63 B LR 2,931 1,410 | 1,521 1,201
AT 85 38 47 58 EHE 700 354 346 363
BXAES 118 49 69 59 4 [ ET 318 151 167 131
ekl 516 200 316 238 LSRR T 1,258 610 648 569
ES:) 1,392 676 716 649 E Faor FLHET 293 137 156 113
i | A SAEET 3365 | 1638| 1727 | 1,483 X |\LERET 190 91 99 83
i |hRx 3790 | 1,822 | 1,968 | 1,650 R EHE 1,511 702 809 637
| 5 AT 1,046 464 582 465 EHET 1,423 699 724 572
B |y 3090 | 1526 | 1564 | 1354 ILAHET 557 255 302 243
H ST 344 165 179 161 —ARRX 487 225 262 203
HACHTET 318 158 160 139 IEHET 521 246 275 211
A4 _E#T 140 72 68 55 PN g2k TG ) 170 123 47 112
B | o1 BT 1663 832 831 794 A T=P P 910 | 451 459 | 296
g HANETEER 120 54 66 56 +t EHET 3207 | 1615 1592 | 1,478
X [BHRKXEHE 598 286 312 274 7 #THET 336 185 151 232
H X ARET 1,358 675 683 574 + EHFTET 167 83 84 73
FiS=1:l) 548 262 286 214 i‘i T 2262 | 1,086 | 1,176 951
0 gk FH T 846 373 473 359 X |AiTEET 278 118 160 131
EIEE 108 44 64 45 75 T 919 449 470 377
f( iiiladiin) 241 108 133 105 E 1)) 946 463 483 409
B MEMNEERER 3295 | 1576 | 1,719 | 1,298 HESUHET 1,310 630 680 404
i [FREAEHRRK [ 2580 | 1277 | 1,303 905 T ErHET 502 236 266 238
E |iENERER 1,167 569 598 393 =EfT 283 135 148 113
BT 1,349 645 704 560 BEEEAS 161 81 80 73
EAHHET 2100 | 1,019 | 1,081 921
 |SHEE 1,478 732 746 659 KOMREITHRIERENRGDIENHEHDT. ADFIC
E | HEMt 377 186 191 161 EENHYET,
M |47 A% BT 405 192 213 159
B |y 52 25 27 26
R FHET 450 191 259 247
WX 268 124 144 116




